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QUESTION 1

Your router is learning the 172.25.11.0/24 prefix from both the BGP and OSPF protocols. A routing policy is configured
on your device to advertise the prefix to an established BGP peer but the peer is not receiving the prefix. You want to
allow the prefix to be advertised to the BGP peer.

What should you do on this router to satisfy this requirement?

A. Enable the automatic removal of peer AS information from the prefix.

B. Enable the advertisement of inactive BGP routes.

C. Enable the automatic removal of private AS numbers from the prefix.

D. Enable the automatic refreshing of BGP routes.

Correct Answer: B

QUESTION 2

You have an OSPF NSSA area that is also receiving I1S-IS routes on the ASBR.
In this scenario, which LSA type is used to announce external IS-1S routes?

A. Type 7

B. Type 8

C.Typel

D. Type 4

Correct Answer: A

QUESTION 3

Which two port security mechanisms rely on an accurate DHCP snooping database to operate correctly? (Choose two.)
A. IP source guard

B. persistent MAC learning

C. MACsec

D. dynamic ARP inspection

Correct Answer: AD

QUESTION 4
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You are troubleshooting OSPF issues on your device. You run a trace log and receive the error shown in the exhibit.
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What would case this error?
A. missing route policy

B. stub area mismatch

C. MD5 authentication error
D. subnet mismatch

Correct Answer: B

QUESTION 5

Which two statements about the default load-balancing behavior for the Junos OS are correct? (Choose two.)
A. By default, the Junos OS performs a per-packet load-balancing operation.

B. By default, the Junos OS installs multiple equal-cost next hops in the forwarding table for a destination prefix.
C. By default, the Junos OS selects one of the equal-cost next hops for received destination prefixes.

D. By default, all Packet Forwarding Engine slots are assigned the same hash value on the Junos device.

Correct Answer: CD
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